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Candidates must write the Code on
the title page of the answer-book.

Roll No.

o FUITITHR A HIA-THFYFATS 8% |

o  TH-TA 1 Gife 811 3l 3R T T hIE TR ohi B I -JETeh! o T@-T8 W o |
o FHUA G HA {6 30 TA-TA H 26 T ¢ |

® YA T 1 I (TG TE HH & U5A, T 1 FHATh S (019 |

o I WIH-TH I Ued o foTu 15 Tire o1 wwa fem o 8 |y - w1 foawor qaf 8§ 10.15 s
ToRaT ST 1 10.15 &9 & 10.30 S Toh BT <hael SR-TF i Th 3N 38 74l o gH o
ITR-YfETehT T HIE I 6l fora |

e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

S fosm (A=)

BIOLOGY (Theory)
feiia @ - 3 g2 3ferBaq 3% 70

Time allowed : 3 hours Maximum Marks : 70

= e
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(iv)  @UE—T T Io7 GEIT11 T 22 FTG-IF07 F7 FHRI & &, Tcie 97 @4 371 H1 8 |
v) G —g G T GEIT23 o TR J97 TR 3] #1 & |

i)  @GUS—F H T GEIT124 G 26 FH-ITR1T F97 8, JAF F97 Gid 3H H71 8 [

(vii)  FH-YF 7 GHT T P13 faheq 781 8, 137 41 @ 3791 a1ct T J97 7, diT 371 arct T
97 7 37K g 3791 arct @t il et 4 iatt ae-aeey 19T T & | 3w gieref
%1 0F Jv] @ @l 94l 4 @ Hi3 Uh 97 5T FATE |

General Instructions :

5712

(i) There are total 26 questions in five sections in the question paper. All questions
are compulsory.

(ii) Section A contains questions number 1 to 5, very short answer type questions of
one mark each.

(iii)  Section B contains questions number 6 to 10, short answer type-I questions of two
marks each.

(iv)  Section C contains questions number 11 to 22, short answer type-II questions of
three marks each.

v) Section D contains question number 23, value based question of four marks.

(vi)  Section E contains questions number 24 to 26, long answer type questions of five
marks each.

(vii)  There is no overall choice in the question paper, however, an internal choice is
provided in one question of two marks, one question of three marks and all the
three questions of five marks. In these questions, an examinee is to attempt any one
of the two given alternatives.

T i —-%
SECTION — A
S fafrcar = 2 ? 1

What is Gene therapy ?

39 T a1 ot A1 fetfae foraw asai o tmard iy (§8erss nefusfed) I =i @i
TR | 1
Name the category of disease in which ‘Rheumatoid arthritis’ in human is put under.

firhrer grr weerepishE T o T fohT 7T Y= % 3T H 3k gRT 9TH TRy fefan | 1

Write the conclusion Griffith arrived at the end of his experiment with Streptococcus
pneumonia.
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4.  HE T YEd IRY BH o foTU Hehd el 8 340 8id 8, fefau | 1

State where do the signals for parturition orginate from in humans.

5. \m= vt gfY aret ekt (wrar-fudn) & wes quify (R sASE) STeteh i 99 BT |
3T Sl o S(AIeEY feRay | 1

A colour blind boy is born to a couple with a normal colour vision. Write the genotype
of the parents.

LCLCRC
SECTION - B

6. TIIYH WS Y Yfqaferes (Varaifeesn) qem s9ehl @IS i ool SiTieh o1 9™ fefigu |

Name the first antibiotic discovered and by whom.

[

7. el (TAHE Tl.) 3R I HIfS ATEHl hl FEH b e FHeshael ey B | A WrEH gl
el o foTe o fohd TehR Avehdl & 7 2

Mycorrhizal association exists between fungi (Glomus sp) and roots of higher plants.
How is this association beneficial to each member ?

8.  Teret Tygr o wwferai < YfehT 1 IUM HIFT | 2

Explain the role played by predators in a community.

9. IR fa9TSH Ik & THY hiHeS faHASH 7 B o R0 =7 BIdT & 7 Tsh 3eT8W0 g
I I hl ST HIfT | 2

HYET
ABO %R 1 gg-gwiferdr (shi-Sifi9) &1 Teh 37=31 3¢ 2 | e admsy | 2

What happens when chromatids fail to segregate during cell division cycle ? Explain
your answer with an example.

OR

ABO blood groups is a good example of co-dominance. Justify.

10. Ak S (TSSHTEE) h8 had @ ? 2 3eretur T | 2

What is parthenogenesis ? Give two examples.
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Qqug -1
SECTION - C

11. S 3CTEL0T <hl TERIAT & THSITST foh TR quT Sehii S Tfies IuMih1aT & 1@ 7 3O
fafsre diet 3 forg wAR STTeRTiGhI U TeTIfeh Ifewart w1 farepra foma | 3

Explain with the help of two examples how certain plants have evolved morphological
and chemical defenses against primary consumers such as cows and goats.

12.  digshiei & reafieh Td gad I o IRy figeh 6l & T8 TMfat 1 fawm
BT | AT HIfSTT o6 UET BT fohe bR Twa 53T | SHUSR h fAp@ wi e had & 7 3

Excessive and continuous use of pesticides has resulted in evolution of some new
species of pests. Explain what must have led to this. What is this type of evolution
called ?

13, (31) AFd TS i STRE I I o SHEE TAT (i) Ao Geoh, (ii) JaTa e,
(iii) TTHY 4ok T (iv) did g (hrdw wgfeem) st amifera Hifs |
(@) dia g =1 g feafaw | 3
AT
(31) STIAsTSI o eher H AT Ffcte i Jfg q@rid e Foa sH3Q @ (i) afdem,
(ii) T I, (iii) SSUE GR U (iv) STV I AHIehd HIFT |
(@) ofiSIug grR &1 Y fefan | 3

(a) Draw a diagram of a sectional view of human ovary and label (i) Primary
follicle; (i1) Tertiary follicle; (ii1) Graafian follicle and (iv) Corpus luteum.

(b)  Write the function of corpus luteum.
OR

(a) Draw a diagram of Pistil showing pollen tube growth in angiosperm and label
(1) Stigma; (i1) male gametes; (ii1) micropyle and (iv) Ovule.

(b)  Write the function of micropyle.

14. SI-Senfieh sarn § gfasfas gfetie s O fags i smen Ae-TadeEey &
JrfemT SRy fage © | 3fifue samsy | 3

B-galactosidase enzyme site is a preferred selectable marker in comparison to
antibiotic resistant selectable marker in biotechnology experiments. Justify.
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15.

16.

17.

18.

19.

5712

Frefafaa aiferest & 21, 31, 3, 3, 3 91 S il TguH HifT

USITEH 1 7 /
Sa-afsha 31

|

(i)

WIhihd

(i) 3

E

(iii) wfew

3

Identify a, b, ¢, d, e and f in the following table :

Name of Enzyme/
Bioactive Molecule

Source

(1) a

Streptococcus

b

(i) c

d

Immuno-suppressive agent in
organ transplant patients

(ii1) Statins

f

iU 3] o FefeTiga g STfyerern i Smea it -
() FHh! G TG o & HHI 1 Teh-GEL o b B |

(§) QHI EeN3Tl % Te - FHHIaE gaoTdT 8T |

Explain the following salient features of a DNA molecule :
(a) Complimentarity of the base pairs of its two chains.
(b)  Anti-parallel polarity of the two chains.

39 g <1 9 forfige e wE’ Sa faefa foee sma @ 1 3fua Sergwon i ggrar 3 we

T fob S-S RTehT IRTieh! 5 ‘ShTs” ST shT ST Rl 3T Shd ToRarT |

Name the organism from which the ‘cry’ genes are isolated. Mention with the help of
suitable example why and how bio-technologists have made use of ‘cry’ genes.

IR HiY ST HEIM A 3 7T oot bl UHT 37 Tohed| i T=ifae fopan =, T
fererfir e @fvst divent o1 I 2 | 39 YRR % UTEU-Si I T hEd & 7 36 TN b

IS HRISHHT ! Tl 1 T Ie¥d feafau |

The Indian Agricultural Research Institute has introduced several cereal and vegetable
crops that are nutritionally rich in vitamins and minerals. What is this kind of breeding
called ? Write the main objectives with which such breeding programme is carried.

IR € TF T FeheA1ehl o ST G SYFO o IcdTe § 1 At oft 7 3T € U U aeheiteh
T ITANT hieh el foteft 3 Sgfer =1 Icare o fema 2

What was the challenge for production of insulin using rDNA techniques ? How did
Eli Lilly produce insulin using rDNA technology ?
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20. Y] IS HTIHH I 3£ TARIT | Hahe BIH T oh ST =N hl FUH I | 3

Write the aim with which animal breeding programmes are carried. Describe the
essential steps to be followed in Poultry management.

21. SATeRIUE T BT hl 3@ 1 78 TehR 1 3T el ST & ? HT TR & 37 H1 Th 31
IR0 3T & U1 U 3erevt gt & oft € | 376 g wefsta 36 foshra wehy w1 A
forRaw e same ot Hifse | 3

What type of organs eye of an Octopus and that of a human called ? Give another
example from the animal group and one from the plants of such organs. Name and
explain the evolutionary process they exhibit.

22. Torat & foru Sucrey formell <) 318 3 <1 % T forRaw aen Sht v wgf srams | 3

List any two types of IUDs that are available for human females and state their mode
of action.

g -
SECTION - D
23. g Senfiehl  shifd % §1g 379 T8 WRd § T Ud el & 6 T8 9Tl Yedsh SR 6
Sited T Teh IR f&eem <9 T 2 | STUeRl 399 U & et % sehl-geie H

FoFTeh STARTY (3-oZH) o IcuTed qi Yaed W ferenff=r =i waifera e % fore e
ST & —

(31) fofee, §-9w (3.3mfm) FA TP E 7
(9) Sarse foh, 319 $-37aRTE o Yau < fawa W foenfia = fora TR e HaT ?

(F) 3-3TURTE & yau & eyl 7 faspioa ugi 3 faemmasiier < o1 fohm wepr smwor fopa
g7 4

With the revolution in information technology, now it has become an integral part of
everybody’s life, living in rural and urban India. You are asked to address the
gathering of students of eco-clubs of your neighbourhood schools on generation and
management of e-waste.

(a) Write how e-waste is generated.

(b) Explain how would you address the awareness issue of e-waste management
amongst the students.

(c) How have the developed countries exploited the developing countries with
respect to e-waste managements ?

5712 6

Downl oaded From : http://cbseportal .con Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

g -
SECTION - E

24, HHE H @ & 99 % W foshed) wEw et TE B, T I8 s9E =i vl o W
ufterferd g1 8 | 39 TR % fomives Y gemifa % Yo i e HifT | 38 TR A

I Rl T hgd @ ? 39 YR shl ST S STl Teh 3T 3T S | 5
HYET
Teh 3TET hrgeh! H 3TREA JshH T JUH HIfT | 5

Skin colour in humans does not have distinct alternate forms but shows a whole range
of possible variations in skin colour. Explain the pattern of inheritance of such a trait.
What is this type of inheritance known as ? Provide another example of exhibiting
such an inheritance pattern.

OR

Explain the process of transcription in a prokaryote.

25. (1) fusseft sraredt & 3t ® a9 STestiea wfit o ufava fofee |
(=) Ut & et @ el Hifse s Hror sger ga |
(|) SR < 9o 4T3y |

(8) SHIIEH I Ushl 1 Teh IUTH FEATST | 1+2+1+1=5
JAYaT
(37) Feerdt yaterei affefae = arer auft agemEt 3 e U weqT # 81 @ uiEdHi &
Yo W TE HIfT |
(§) ‘< FHEE’ qAT ‘ThHeh <h! ARSI HIFT |
(9) 3IeTetvit Y Herrar & s qt fgdiaes srgsna & fade Hifs 1+2+42=5

(a) Write the percentage of land area that was covered by forests by the end of the
last century.

(b) Describe any two practices that led to deforestation.
(c) State the consequences of deforestation.
(d) Suggest a method to overcome deforestation.

OR

(@) Comment on the pattern in which all communities undergo a change in
composition and structure with changing environmental conditions.

(b) Explain ‘Climax community’ and ‘sere’.

(c) Differentiate between primary and secondary succession with examples.
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26. (31) 9 Fvem (sl wiéamgeem), @ SR 2 g8 9&t SRisH & ST S
2, o T <ot o i hifvT |

(9) 39 HRIsHA HT 7E SaT3T | 4+1=5
YT
(37) SISt T AT YA o S Teh AU q2i Teh STEHHAT TR |
(&) gt et o ferepfera Wt <ffe et i sme Hifsre S 3 T -TETT Sl gdreEd
AT T -V ST TIeHTlEd i & | 5

(a) Explain the steps involved in in vitro fertilisation popularly known as test tube
baby programme.

(b) State the importance of this programme.
OR

(a) State one difference and one similarity between geitonogamy and xenogamy.

(b) Explain any three devices developed in flowering plants to discourage self
pollination and encourage cross pollination.
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